Functions & Graphs Homework 2 - Marking Scheme

Question | Main points of expected responses

1@ |o f@) o 6
o g(6) o2 17
© g1 o —4
o f(-4) “ 12
1 (b) e12  Answer and tidy o2 flgx)=@Bx-1)%2+(Bx-1)
=9x% — 3x
¢34 Answer and tidy " g(f(@)=3(a’+a)-1
=3a’+3a—1
®56  Answer and tidy 5 F(FUO) = (K2 + k)z + (K2 + k)
= k*+ 2K + 2k* + k
2 (a) Answer " g(f(x)) _( )2 41
)E-1
(2x-1)2+1

< g(f) = 11

2(b) |e' Denominator=20 ol 4x?2—4x=0
ez Factorise and answer 2 4x(x—-1)=0 x=0 x=1
3 (i) el Shape ol T
o2 Coordinates o2 Fxy=2¢ |
+ /a2)
——-/(O}

3 (ii) e3  Shape ol
¢4  Coordinates o2 f(x) = 243 °
(0,4)

A

(1.5)
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3 (iii) o5  Shape o5
6 Coordinates o6
4 el  Shape ol . -
e2  Coordinates T e e e
2 L [ 49)
5 (1) ol Sketch with Max and Mini | e! () = sin(x)

Crossover on x-axis

fix) = 2-sin(3-x)

5 (ii) el Sketch 3 cycles o3

2  Maxand Mini +2 ot

5 (iii) ol  Sketch Max and Mini +4 ot

2 Move down 1 unit .

6 el  Gradient ol Mor = _1
8

) . .
° Perpendicular Gradient o2 Mperp = 8

o> Equation o y—1=8(x+1)

Total 30 marks



